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QUESTION 1

What is a challenge of Serverless Cloud Computing in low-latency financial applications? 

A. Containers may need to cold start resulting in delays 

B. Serverless containers cannot record the logs required for financial auditing 

C. Long processing transactions can have hidden direct and indirect costs 

D. Requires new security paradigms and best practices 

Correct Answer: D 

 

QUESTION 2

Where can workloads or applications for classic infrastructure be deployed in IBM Cloud? 

A. Dedicated server 

B. Both virtual servers and bare metal servers 

C. Virtual servers only 

D. Bare metal servers only 

Correct Answer: C 

 

QUESTION 3

Under IAM, which two roles can be assigned to a user in IBM Cloud for a specific resource or resource group? (Choose
two.) 

A. Viewer 

B. Developer 

C. Root 

D. Wheel 

E. Administrator 

Correct Answer: AE 

 

QUESTION 4

An application is comprised of a set of core functions such as product catalog, client ratings, user forums, and each
function must be developed and deployed independently of each other. Which architecture supports this requirement? 
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A. Microservices 

B. Platform-as-a-service 

C. Fowler 

D. Monolithic 

Correct Answer: A 

 

QUESTION 5

Which two public clouds provide Red Hat Managed OpenShift instances? (Choose two.) 

A. Microsoft Azure 

B. Corda Cloud 

C. Oracle Cloud 

D. Google Cloud 

E. El AWS 

Correct Answer: AD 
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